	AF4.1*
	Solve two-step linear equations and inequalities in one variable over the rational
 numbers, interpret the solution or solutions in the context from which they arose,
and verify the reasonableness of the results.



Name:______________________

Solving Two-Step Equations
You need to show all steps and circle all answers within each problem!

	1.  3x + 12 = 24
	2.  5d – 9 = 1
	3.  4h + 16 = 20

	4.  10 + 6a = -2
	5.  8y – 23 = 1
	6.  10w – 18 = 22

	7.  3x + 19 = 25
	8.  2m + 14 = 28
	9.  7v – 3 = 25

	10.  -4c – 5 = 15
	11.  12e + 17 = 65
	12.  14s – 98 = 42
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	16.  19 – 7x = 82
	17.  97 = 32j - 53
	18.  -98 = -23 – 15r


Total value of all answers should add up to get: 61
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